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=+−− 134 xxx ( ) =−−− )1(13 xxx =−− )1)(1( 3xx ( ) ( )11 22 ++− xxx (1 �"#��).  
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���*��&�� *�%���,������� '��+���!� �� � �� �  2,1: ≠≥ xxD (1 �"#��) 

� [ )�∈ 2;1x 1−=B  (0,5 �"#��) �  � ( )�+∞∈ ;2x 1=B (0,5 �"#��)
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3 �!. �$/ ���� �D � *��'��$� �� ��������� ����� ABCΔ ���$+���� ����D=�ACD=90o

(2 �"#�%). 
� �!�/��!��� �� !�������� $���  �'�'�, "� ��DA=�CBA (1 �"#�a). DC � PN ��
� �� � DC//PN � "� �CDP=�NPA ���� �$��!���� $��� � �CBA=�NPA (1 �"#��). �� ��
����=�ANP=90o � "� ����� "�����$�$���� ���N '�+� *� �� ���(� ���$+���� �
*��'��$� �� � ����!� �NP�=�NMA . ���*�!������ �CBA=�NPA=�NMA (1 �"#�a). �
���� ���#"�!�'�, "�:  �CBA=�NMA, �� ��!� �� �$��!���� $���, ���#"��� ��� (�� �
MN)0AB�BC//MN (1 �"#��) � �$/ ���� ��"���� M � N ��+�� �� �������� �� 1��� �BM�NC
�"�����$�$����$� MBCN � �����, (1 �"#��).
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